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AR English

Directions (Q.Nos. 61 to 65) Read the given
passage carefully and answer the questions that
follow by selecting the most appropriate option.

Helicopters are very different from airplanes.
They can do three things that airplanes cannot
do. First, when airplanes move upward, they
must also move forward, but helicopters can
move straight up without moving ahead. Second,
helicopters can fly backward, which airplanes
cannot do. Third, helicopters can use their rotors to
hover in the air, which is impossible for airplanes.
Helicoptes can perform actions that airplanes
cannot, they are used for different tasks. Since,
helicopters can take off without moving forward,
they do not need a runway for take off. They are
used in congested areas where there is no room
for airplanes or in isolated areas, which do not
have airports, because they can hover, they are
used on firefighting missions to drop water on
fires. They are used in logging operations to lift
trees out of forests. Helicopters are used as air
ambulances to airlift patients out of situations,
which are difficult to reach by conventional
ambulances. The police used helicopters to follow
suspects on the ground or to search for cars on the
ground. Of course, helicopters have military uses
because of their design and capabilities.

61. The word 'congested' in the passage means
(1) the place is roomy
(2) the place has no place
(3) the place can be accessed by police vans
(4) the place has so much of smoke due to fire

63. Point out the grammatical category of the
word 'perform' in the passage.

(1) Noun

(2) Verb

(3) Adverb

(4) Helping verb

Explanation : (2) Verb
» Here the word perform is used as verb, which
means to do an action or piece of work, that
helicopters can but the airplanes cannot do in the
air.
e.g. — Robots can perform thousands of operations
flawlessly every minute.

Explanation : (2) The place has no place
» Here, the word 'congested' means to fill excess,
overcrowed or overburden.
> In the given passage the word 'congested' is used
to show that there is no space for airplanes as it
means overcrowded or overburden.
e.g. — The subway entrance was so congested that
| noone could move.

62. A helicopter can hover while an airplar-xe
cannot, according to the passage. 'Hover' in

the passage means

(1) stay at one place in the air
(2) move straight up in the air
(3) go backward in the air

(4) fly sideways

Explanation : (1) Stay at one place in the air

» In the given passage the word, 'Hover' means to
remain in one place in the air to show that the
helicopter can hover in the air to perform actions
that airplanes cannot.

e.g. — The temperature hovered around twenty-
five and the sun was brilliant.

64. Why is a helicopter used as an ambulance?
(1) Its movement can be manoeuvred easily
(2) It crosses all difficulties of traffic
(3) It reaches the inaccessible places easily
(4) It can fire-fight

Explanation : (3) It reaches the inaccessible places
easily

| » Helicopters are used as air ambulance because

; it reaches the hospital fastly and it is also easily

movable and can be landed anywhere that a

airplane cannot.

65. Point out the grammatical category of the
word 'very' in the passage.

(1) Adverb (2) Adjective
(3) Noun (4) Verb

Explanation : (1) Adverb
» Inthe passage the word 'very'is used as an adverb
which means in a high degree, or extremely to
emphasizing an extermpoint in duality, time or
space.
> Here, very is used to identify extreme differences
between helicopter an a airplanes. e

66. '"To chew the cud' correctly means
(1) to contrive against someone
(2) to die on duty
(3) to meditate
(4) to inculcate virtues

Explanation : (3) to meditate

» The idiom 'to chew the cud'
and carefully about something..

e.g.— He sat for a moment chewing

he spoke.

means to think slowly

the cud before
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Direction (Q. Nos. 67-69) complete the sentence
in the following questions with most appropriate

choice.

67. He was very much ashamed his
mischief.
(1) for (2) of (3) with  (4) over

Explanation : (2) of
> Here the word ashamed is use for embarrassed
about something you have done or about a quality
in your character, and the preposition used
after ashamed is 'e.g.' Ashamed of means to feel
disappointed and upset by someone's behaviour.

68. he stood first, he would have gone to
America.
1) If (2) Had
(3) Have (4) Anyways

Explanation : (2) Had

> When we talking about something that didn't
happen in the past, then we use the conditional
perfect (if i would have done) when they should |
be using the past perfect (if i had done). ‘,

> In addition to the mormal' forms of conditional |
sentences. ('if' sentence showing a condition and |
a result), you will sometimes see a 'shortened |

type of conditional construction. ‘
|

> This kind of 'abbreviated' conditional is most |
commonly seen in past unreal situations.
e.g— Had she not applied early, she wouldn't

i
|
have been accepted. |

69. Of the sword and pen, the is more
powerful.
(1) lastone (2) later (3) latter (4) last

Explanation : (3) latter

» We use 'latter' to refer to the second of two
persons or things that have been mentioned,
and also shows the position. It is the opposite of
'former'.

> Here, the word 'latter' is used to show the position
or power of pen between sword and pen.
e.g.— Red and blue are popular colours, but the
latter is more popular.

70. Which prefix can be used with the following

words?
(behave, guide, use)
(1) in (2) dis (8) mis 4) re

Explanation : (3) 'mis'

> The correct prefix which can be used in the given
words is 'mis' and after using the prefix 'mis' the
word are misbehave misguide, misuse prefix
'MIS' is widely used to form new words which
may convey totally different generally mostly in
a negative sense.

71. Choose the correct sentence.
(1) The committee were one on this pojnt
(2) The committee was one on this point,
(3) The committee was divided on thig potnt
(4) The committee have one on this point,

Explanation : (2) The Committee Wam:
point. _ .

» Group nouns (e.g.— Committee, jury, army, team,
family etc.) are followed ‘by 51ng1}lar verbs whey
group is thought of as a single unit. But when tp,
individual members of the group are thought o
the plural verb is used.

e.g— A Committee was appointed to study the
question
The jury were divided in their opinion.

e.g.— Miscount, misplace, misspell etc.

72. Which of the following is an example of
simile?
(1) I wandered lonely as a cloud
(2) Life is a dream
(3) Anxiety is sitting on her face
(4) A le has no legs

———

| Explanation : (1) I wandered lonely as a cloud

» A simile is a figure of speech that makes a
comparison, showing similarities between two
different things unlike a metaphor a simile draws
resemblance with the help of the words 'like' or
'as'. Therefore, it as is a direct comparison.

» In the given sentence 'T' is companied to 'cloud' in
the sense of lonely.

e.g.— Her cheeks are red like a-rose.

73. Change the following sentence into active|
voice.

The visitors were shown the new born by|
the woman.

(1) The new born was shown to the visitors b
the woman

(2) The woman has shown the new born to thi

visitors
(3) The woman showed the visitors the new bort
(4) The woman might have shown the new bor

Explanation : (3) The woman showed the visitors
the new born ‘

» The _gengral rule for sentence in simple past
passive 1s— object + was/were+past participl
of main verb (third form) in an affirmative
sentence. And in active voice the verb should bé
in the second form.

e.g.— Active- The boy asked a difficult question:

ll:assive— A difficult question was asked by the
oy.




74. Select the antonym for the word 'adverse'.
(1) Hostile (2) Friendly
(3) Inimical (4) Unwilling

I—

Explanation : (2) Friendly

» Adverse means having a negative or harmful
effect on something someone so, the antonym
for the word adverse is 'friendly which means
behaving in a pleasant, kind way towards

someone.

Hostile showing or feeling opposition or
dislike, unfriendly.

Inimical tending to obstruct or harm

Precious of great value not, to be wasted or

treated carelessly.
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Explanation : (1) He is MA

» Here we have to use article 'an' before M.A., then
the sentence will be correct as He is an M.A.

» We write 'an M.A.' because the choice of article is
decided by pronunciation and 'M' is pronounced
with an article vowel sound.
e.g.—an X-Ray, an HMRC office etc.

79. Pick out the correct question tag for the
following.

People shouldn't drink and drive
(1) should they? (2) shouldn't they?
(3) ins'tit? (4) shall they?

75. Fill in the blank with correct word to
complete the proverb.

Blood is than water.
(1) thinner (2) thicker
(3) purer (4) precious

Explanation : (2) thicker
» The proverb 'blood is thicker than water' means
to emphasize that you believe that family
connections are always more important than
other types of relationship.
» So, thicker is the appropriate word for this
proverb.

76. Bees are kept in
(1) a pantry (2) anursey

(3) an apiary (4) an aquarium

Explanation : (3) Bees are kept in an apiary
> An apiary (also known as bee yard) is a location
where beehives of honey bees are kept. Apiaries
come in many sizes and can be rural or urban
depending on the honey production operation.

77. The idiom green-eyed monster means
(2) to be sick
(4) to be blind

(1) to be jealous
(3) to be angry

Explanation : (1) to be jealous
» 'Green-eyed monster' means feeling of anger or
unhappiness because somebody you like or love is
showing interest in somebody else, or jealously.

Explanation : (1) should they

» Question tags are the short questions that we put
on the end of sentences.

» If the main part of the sentence is negative, the
question tag is positive.

» If the question tag uses an auxiliary verb (have,
has should etc.) then the question tag is made
with the same auxiliary verb.

e.g.— They weren't here 'were they' ?

80. A sentence is divided into four parts (1), (2),

(3) and (4). Point out the part that has an
error:

(1) You are learning english
(2) For the last one year

(3) But you show

(4) No improvement at all.

Explanation : (1) You are learning english

» Here 'you have been learning' should be used
instead of 'you are learning' because the sentence
is in the present perfect continuous tense. In this
tense the action always started in the past and
continued till the present now.
e.g— He has been studying this book for three
months.

81. Give one word substitution for the following
The scientific study of insects.

(2) Entomology
(4) Meteorology

(1) Criminology
(3) Mycology

78. Select the sentences in which the article
has been wrongly used.

(1) Heis M.A.

(2) Twelve inches make a foot

(3) A pupil should obey his teacher
(4) He is a European

Explanation : (2) Entomology
> The branch of zoology concerned with the study
of insects is called Entomology. .
Criminology : The scientific study of crime
and criminals. .
Mycology . The scientific study of Fungi

Meteorology : The science that deals with the
atmosphere and its phenomena
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82. Point out the correct direct speech for the
following:

I asked why he was looking through the
keyhole.

(1) 'Are you looking through the keyhole?' I said

(2) 'Do not look through the keyhole, I said'

(3) 'Why are you looking through the keyhole?' 1
said

(4) 'You are looking through the keyhole,' I said

Explanation : (3) 'Why are you looking through the
keyhole?' I said

83. Put the verbs in the brackets into the
correct present tense.

My daughter never (write) to me so I never
(know) what she (do).

(1) My daughter never wroters to me so I never

knew what she do

(2) My daughter never write to me so I never
knew what she does

(3) My daughter never writes to me so I never
knew what she is doing

(4) My daughter never writes to me so I never
knew what she does

Explanation : (3) My daughter never writes to me

so ‘

I never knew what she is doing I

» Here the sentence is in simple present tense and ‘
the subject is third person singular number so,

we use the singular verb (writes). |

84. Pick out the correct synonym of the word

‘cantankerous'.
(1) Rash (2) Quarrelsome
(3) Noisy (4) Disrespectful

Explanation : (2) Quarrelsome
> Cantankerous means bad-tempened and

complaining most of the time and quarrelgome

means given to or characterized by quarrelling.

Rash : acting or done without careful
consideration of the possible
consequences.

Disrespectful : showing a lack of respect or
courtesy, impolite

85. Pick out the sentence that has a
demonstrative adjective in it.
(1) Ttis twenty-kilometer walk
(2) This kind of questions is often asked in
examinations
(3) Each of them received ten rupees
(4) His written statement differs form his oral one

>

Explanation : (2) This kind of question is g
asked in examinations

A demonstrative adjective, like this or that, hel

to indicate a noun or pronoun in a sentence, H}?s ;
especially helpful when you want to make 11:
clear which person or thing you would like t, g
about, whether, it's near or far singular or plurg]

Direction (. Nos. 86-90) Read .the given pagg,
carefully and answer the questions that folloy, by
selecting the most appropriate option. i

. What is the total time spent by the elderly

ge

Work expands so as to fill the time available for
its completion. The general recognition of this
fact its shown in the proverbial phrase, it ig the
busiest man who has time to spare. ‘

Thus, an elderly lady at leisure can spend the
entire day writing a postcard to her niece. Ap
hour will be spent in finding the postcard, anothey
hunting for spectacles, half an hour to search foy
the address, an hour and a quarter in composition
and twenty minutes in deciding whether or not
to take an umbrella when going to the pillar-box
in the street. The total effort that would occupy
a busy man for the three minutes, all told may
in this fashion leave another person completly
exhausted after a day of doubt anxiety and toil.

lady in writing a postcard?
(1) Three minutes

(2) A full day

(3) Four hours and five minutes
(4) Half an hour

x
>

Explanation : (2) A full day

According to the given passage an elderly lady
at leisure can spend the entire day writing a
postcard to her niece.

87.

What happens when the time to spent on’
some work increase?

(1) The work is done smoothly

(2) The work is done leisurely

(3) The work consumes all the time

(4) The work needs additional time

»

Explanation : (3) The work consumes all the time

We all know that if the time spent on some work
increase then the work consumes all the time.

88. What does the expression 'pillar-box' stand ]

for?

(1) A box attached to the pillar
(2) A box is the pillar

(3) Box office

(4) A pillar type postbox

»

Explanation : (4) A pillar type postbox

A pillar box is a large red cylindrical publicposﬂ' ;

-




39. What is the person likely to take more time
to do work?

(1) A busy man
(3) A man of leisure

(2) An elderly person
(4) An exhausted person

Explanation : (1) A man of leisure

I

90. Point out the most appropriate explanation
of the sentence, 'Work expands so as to fill
the time available for its completion.'
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(1) The more work there is to be done, the more
the time needed

(2) Whatever time is available for a given amount
of work, all of it will be used.

(8) If you have more time, you can do more work

(4) If you have some important work to do, you
should always have some additional time

Explanation : (2) Whatever time is available for a
given amount of work, all of it will be used.
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112. afg A & B 9q==g ¢ & ifaftaa Iwaq==d
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(1) AnB (2) AUB
3) A (4) B
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AR B, 9q=a C % % sifafem aq==a
LAcBdNB cC
L AUANB=A
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& HhE T (x,7) 8
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e (1) 9 TS & A Foi w1 Aed 180°
2 2l
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117. x & fwa o & fau = eiiwst &1 agas
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qeE: ) x+y+z2=2+1-3=0
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122, afg WHEOT 22— bx + ¢ = 0 & WA SN THUTTA
guf et &, 9 b2 4c
11 2 -1 3 0 4) 2
=R (1) WA U T Gl &1 g6l o 3R g+ 1 R
T, Hel 1 AT,
a+(a+1)=2a+1=—(-b)=b
AT Al T RS = o (a0 + 1) = ¢
S, YAHER,

3) B 4) AUB

. B=¢

b2—4c=(2(x+ 1)2—4a(a+ 1)
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wiifer o8
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(2) I F FEEF oA § fheq foga w1 gaes
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31, -

n - total number of branches with current flowing
towards or away from the node.

» felt o= wfgy § fawara &1 4m = a2
3V, =0

n- Number of voltage
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Key Points- |

> e fafy & 7% fae@™ gue (Wilhelm Wundt)
qen 376 1 feamR (tichner) 811 st=iee fafyu =
TAr =ad Sg4fd & Al q-gag, 9 qen ufem
&1 AT FH o fau fma mn oem

> g o STER, Io Ygfdeid =I6er & i s B &
1. IAHE 98 (Cognitive Aspect)

2. 9ErcHs 98 (Affective Aspect)
3. fraras® u& (Conative Aspect)

> Afedd WM % YU YA (projective tests)
4 yaifer yafed T9E@ W (rorschach test)
t foae wiied feesreve & wAifafeas s
TJemeh 3 ¥ 1921 ¥ fomam

> faegfa =t wwem qun fawgfa % @ ofifed = =1
fem & sfoei@ &1 qem @ fogfa =1 o HewEyi
HEH WA W@ €

> TH 399 qEn & Ton # v, favaeEar, g,
TS, SRRl G WS i AT HI S T

> SRR & 3% fEm A fagr 8- disee gEmEa
1 gersiany w1 fRear &1 fagr (SisEA) , g
F1 fom, meea w1 Se-wifersr fem, afsa o
& sAfamw &1 fraw, oS i & gwme @ e,
T 1 g den = s fram)

> TH-d« f8g= (Uni-factor theroy), gfg *1 WA
fogr ? oo g oo wefes frand frafem
Bl 2

> 3fg & fg-a fagra &1 wfauea ofeda 3 1927 §
e 39 fog= & 78R gfg § wRH Im= e
FH (G-FEF) A (G-factor) e fafyre amaa
FRE FRF) Y et s+ &)

> fewie & 3fs & sgaa fagma Multifactor
theory) ¥ gfg & @it al = famail (Dimension)
o gufssm fovan man 21 3 i famnd Wi (operation),
foasa-a% (content) T SRH (products)|

> dfdwt § weft el w1 e wen fam-fee e
2 T & ThE § o TR ) Wem s9 a@ &
A @M % AR B

> Ted WM o o ol [ o ®iel &1 ared [
Fea 8 WHIEH ¥ YR H SE F B

> T fasor o svoet uxiel W srem-stem <@ W
& fawrht fasm Feand 1 SH-9H w6 wwe] @
Tagon

> HfER (eukaryote) T Sia & el Sl & forg!
Hifveret o fafeaal & o€ oTa =i @

> Wfew S & Wit Yarasiel A qRSEl SerEn YT
TyAwur a1 & g IOl HRO-UNY F €
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